FZHBm il +F agd in 3% T AT MB
SSO01. Hcfh & % * 232

B AR > A BER A TIT 0 kg P fedi i f(x)e R s &

A o R

[P1] Mk~ % — 24 2L :

2 f(x)eR %4 e g(x):.[:f(t)dt » xelab] » Bl B %% F xe(ab)® >
g'(x)=f(x) -

[P2] #aff~ % = A& 232

£ f(x)eRz2 Fix)= ()’Xe[ab]’pf:f(t)dtzF(b)_F(a)°

S PLAR 4o

430 g(x)=[ fO)dt e » =5 L a

g B RFF xe(ab)? - g(xX) 2 A EE 40T

‘ -—
Pt
FINS
A&k
>
A
=
o >
—_
-
N—
o
—+
Ry
Eir
=k
x

(1) 0'(x)= lim —[g(x+ 4x)— g()]

&0 AX
= tim L (e[ et
= tim [ (e

Joit & hE_g(X) f X AT M #T 0 A Ft g (X) i e R
FExe(ab)  WE¥ A2 D @ kTR g x=a & x=b -

f(t) A AX _,l |—

g(X):J.: f(t)dt __)r/\
ST 4
| @ Vr/

FURL b j f(t)t %> @) ¢ sl A 440§ Ax—0 B> 515 f(x+ax)—F(x) >

st [ R 0 4 e

EH o HARHETRLETL D ()Eax 287
o %%ﬁﬁ}’& f(X)AX s ?’P(l);\l—?; rgjj ;

SS01-1



R HEP i A8 e ko 35 T MAT $HE

0 g/(x) = tim—= [ £ (e )t = lim — £ (x)4x = f(x)

M0 AX IX M0 AX
2 F AL
d px
3 — | f(t)dt="f
@ ) fOdt=1()
#[P1] & = o

4+_!:$‘J;33245t7f§/’>155&|34 - B T asE f0ORA SR A P R L (X))
TP At E T R AT Sl f) e A s Rl X T ¥
Beps o IR A SR A e 2 %% 5 f(X) e

hcH A _[X f(t)dt 2 # 4 4% 5 7§ 5 4 A ”(running integral) -
a

% ﬁ%g@ﬁ@ﬂlﬁjxf(t)dm’mm § 5 = ghg(x)= j (x,t)dt > I
Al s T A& RRY T F

|
(4) g (X)_AllToZ(g(X+AXt X,t))
=nm-1{j““ x+ax,t)dt— [ f ( xtdq
Ax—0 AX \Ja
He
©) [ (e )t = [ (x+ ax )+ [ F (x+ ax )t
@) e
, 1
(6) g(x)_él‘m)}(_[ f (x+A4x,t)dt - I f(x,t)dt)
lim [ (s Axt) dt
Ax—>0 AX I
(1
= a[JlToZ(f(x_l—Ax't)_f(X't))jdt
lim = [ f (x4 Ax,t) e
Ax—>0 AX I
He
(7) lim i(f(xmx,t)—f(x,t)):Qf(x,t)
-0 AX OX
(8) lim — [ (x+ Ax,t)dt = lim — f (x-+ AxX) AX = f (xX)
A0 AX I ' &0 AX ' ’

SS01-2



RHBm il + & gy ki 3k £
©) L1 )t = [ ()t + F(x,x)
dx va a OX

B AR Ak & AT H Re(3) 5 B B H(Q) R Senpc A -

EHE P2 P 4o T

¢ 4 F'(x)=f(x) » f(x)eR > xelab] » =& 7|3 B o :

(10) G(x)= [ f(t)dt

(1) h(x)=G(x)-F(x)+F(a)

(12 G(x)=f(x)

(13) h(a)=G(a)-F(a)+F(a)=0

% h()% X s > pl7 @

(14)  K(x)=G'(x)-F'(x)=f(x)-f(x)=0

195 h(a)=02 h'(x)=07 44 xe[a,b] > h(x)=0 » (117 ¥ i 3
(15) G(x)-F(x)+ F(a)=["f(t)dt-F(x)+F(a)=0

f(t)ct = Fb)-Fla) - s[P2]% = -

Pt A T

%

b3 e f(x)= x2+sin7zx » 0<X<oo > FFETFIE N
(A) h(x)= j (B) hy(x)=
(C) hy(x)=— (

Il
Q_
'—-
N
-
—_
~—
Q.
—
—~
)
~
-y
=<
<
I

2 (A) R5(3)a "

hl(x):& OX f(t)dt = f(x)=x*+sinax
o Pt = 2 Loos | 8 m s
(B) d * L f(t)dt_gt —;cos;ztt:0 =g R
d e
hz(x):& Of(t)dt=0

SS01-3



R HEP i A8 e ko 35 T MAT $HE

o (2 2 8 y
(©) #& [ % ft)dt=x"] f(t)dt:§x2 ) H

d e, _d(8.,) 16
h3(x)_&jox f(t)dt_&(ng_gx

_ x 1 ? .
(D) +*+& fo X f(t)dt:xz'[0 f(t)dt:§x5 +X7(1—cosm<) "

2
h4(x):% X f(t)t I%{%XS-FX?(].—COSM)]

IV sin7zx+ﬁ(1—cosm<)
3 p/a

ST @R A E AT
d px x 0
h4(x):&J‘0 x? f (t)dt :_[0 &(x2 f(t))dt + %2 (x)
:'[:2xf(t)dt+x2f(x)
2x*  2x

:T+—(1—cosm<)+ x* + X% sin zx
T

BN sinzzx+§(1—cosm<)
3 p/a

EFHRApR S o

SS01-4



